Run 4454 triggerwise, sums: All Run 4454 triggerwise, sums: Beam OFF

%10
B Entrizs: 4125508 1800 Entries: 5631
500 Mhran: 4271.8428 4% DO35E Mean: 12130437 &l- 121833
— 1600 -
— Sbd Derw: £134.5245 456 1 4384 — Sid Dey: SA0LIZAT +/- 86148
400 L 1400
B 1200
300 1000
- 800
200 -
T 600
160 I 400
I 200
l|::|-_II 1 IIIIIII|IIII|I 'D |IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
0 10000 20000 30000 40000 50000 0 5000 10000 15000 20000 25000 30000 35000 40000
sum sum
Run 4454 triggerwise, sums: Beam ON, Laser ON Run 4454 triggerwise, sums: Beam ON, Laser OFF
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